Mole Conversion and Preparing Solutions Review Questions
mass —> mcles

1. How many moles of MgSO4 do you have in a 7.9 g sample?
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2. What volume at STP does 4.38 moles of an unknown gas have?
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3. How many moles of oxygen gas do you have if a sample contains 3.48 x 10% molecules?
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4. A chemistry teacher needs to make up a solution of 0.30 M CaCl,. He thinks that he will need about
2.0 L to have enough for all of his students. What mass of solid CaCl, will he need to dissolve in 2.0

L of water to make this solution?
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5. How many molecules of MgSO4 do you have ina3.22 g sample?

Molar mass = 120,49 3/nel
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6. What is the mass of a 5.35 L sample of SOs gas?
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7. How many oxygen atoms are contained in a 23.5 L sample of SO; gas at STP?
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8. 6.92 g of Sr(OH), contains how many moles of hydrogen atoms?
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9. What volume does 1.3 x 10'* molecules of carbon dioxide occupy at STP?
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10. A pharmacist wants to test a medication by seeing how quickly it dissolves in a potassium chloride
electrolyte solution. She decides that she needs 500. mL of 1.5/M solution to perform the test.
Complete the calculations and describe the steps (include the names of any required equipment) the

pharmacist must take to make the solution.
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